MAC 1105 Formulas

Translation rules

Slope of a line B Y oy
X2 xI
Slope-intercept | y =mx + b,

form

Point-slope
form

y—y1 =m(x—x1) or
y =m(x—x1) +y1

y=f(x+a) a units to the left
y =f(x-a) a units to the right
y=f(x)+a a units up
y=f(x) -a a units down
y = -f(x) Reflected over the x axis
y = f(-x) Reflected over the y axis

Is f(x)= f(-x)

Symmetric to the y axis

Slope of mi=mz
parallel lines

Slope of -1
perpendicular mz=m—i
lines

or opposite reciprocal

Is f(x) = -f(x)

Symmetric to the x axis

Is f(x) = -f(-x)

Symmetric to the origin

Special lines

y = b; horizontal line,
X = a; vertical line

Logarithm rules

logamn =logam + logan

m

loge—
n

logam logan

logamr=p log.m

Quadratic Given ax 2+bx+c =0;
formula ac _ —b+Vb?—4
X 2
a
Vertex

(max or min)

(_b‘f ( b))z 2a_

logax=yeo av=x

Equation of a
circle

= -h*+ @ -k)?
R(radius) center(h,k)

loga
m

In_ logmm

- loga Ina

Ine* =x and

elnx — x

log.a*=x and alogex = x

if a*=av; a

#0,thenx=vy

logam =logan; m,n> 0,thenm=n

logsa= 1and

lnee=1

Distance a=v(x, — 2)2 + (v, — y1)?
midpoint (xl +tx; it }’2)

2 2
x-intercept Lety =0; (a, 0)
y-intercept Letx = 0; (0, b)

Money and Depreciation

A=P(1+r/n)m

A = Pert, use when continuous
V=a(b)tb=1+r
Solving Absolute Value Equations

Exponent Rules

memb = m®**b (mM)? = e
m_ _ 1 a
= m - ==
Ma_b m




|a+b|>c @ (a+b) > cor (a+b) < -c
la+b| < c®@ (a+b)<cand (a+b) >-cor
la+b|<c@-c<(a+b)<c

mb
0 _
" =1 m = iz,
n even,vVa'= |q| nodd,Va"=a
i =V-1i*= -1 J-m=iVm




